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Direction (1-5) are to be answered with reference to the following
explanation and table.

Ten judges were asked to judge the relative sweetness of five compounds
(A, B, C, D and E) by the method of paired comparisons, In judging each of
the possible pairs they were required to state unequivocally which of the
two compound was sweeter—a judgment of equality or of no difference
was ot permitted

The results of their judgments are summarized in the given table. In
studying the table, note that each cell entry shows the number of
comparisons in which the ‘row’ compound was judged to be sweeter than
the ‘column’ compound.

A B C D E
A H 8 10 2
B S 3 9 6
c 2 7 7 8
Do 1 3 )
E 8 4 2 3

Q1. How many comparisons did each judge make?
@s
(b) 10
(c) 15
(d) 20
(e) 25

Q2. Which compound was judged to be the sweetest?
(a) A
(b) B
(o) C
(o
(e) E

Q3. Which compound was judged to be least sweet?
(a)A
(6).B
() C
(do
(e) E

Q4. Which of the following statements is most nearly correct?
(a) There was almost perfect agreement among the ten judges.
(b) The nearest discrimination was between B and C.
(¢) The judges were not experts in discriminating sweetness.
(d) Compound D was most clearly discriminated from the other four
compounds.
(e) Compound C and E were judged to have the same sweetness.

Q5. Between which two compounds was the discrimination least
consistent?
(a) Aand D
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(b) Band E
(9) CandE
(d) CandD
(e) AandB

Direction (6-11) Based on the information given below, answer the
questions below:

In the city's revolving restaurant, the manager has installed four small
lights side by side. numbered 1 to 4 from left to right, above the kitchen
door. The chef switches on the respective lights to signal the waiters when
orders are ready. On a certain shift. there are five waiters, Amit, Binniy,
Chinky, Dicky and Eddy. Now, to signal Amit, the chef illuminates all the
four lights. To signal Binny, he illuminates light 1 and 2. To signal Chinky. he
illuminates only light 1. To signal Dicky, he illuminates lights 2, 3 and 4,
while to signal Eddy, the chef illuminates lights 3 and 4 only,

6. If lights 3 and 4 are illuminated. the signal of which of the following
waiters might be displayed?

(a) Amit only

(b) Eddy only

(¢) Amit and Dicky

(d) Dicky and Eddy

(e) Amit, Dicky and Eddy

Q7. If light 4 is on and light 1 s off then the waiter signaled is
(a) Binny only
(b) Eddy only
(¢) Binny and Dicky
(d) Dicky and Eddy
(e) Binny. Dicky and Eddy.

Q8. If lights 2 and 3.are both off then the waiter signaled could be:
(a) Amir
(b) Binny,
(©) Chirtky
(d),Dicky
(e). Eddy

Q9. Iflight 31s light 2 is off then the waiter signaled is
(a) Amit
(b) Biriny
(©) Chinky
(d) Dinky
(e) Eddy

Q10. If one of the five waiters is being signaled, the light in which of the
following pairs could not both be off?

(a) land 2

(b) 1and3

(d) 2and3

(d) 2and 4

(e) 3and 4



[image: image3.png]http://bank-papers.blogspot.com/
Q11. Iflight 4 s on, then which of the following must be true ?
(a) Light 1is on.
(b) Light 2s off.
(¢) Iflight 1s on, Amit i signaled.
(d) If light 2 s off Chinky is signaled.
(e) I light 3 s off Binny is signaled.

Direction (12-16) Read the given passage and answer the questions
below it:

Nine offices in a business centre are connected by a series of corridors and
walkways. Any one visiting these offices must begin at office 1, which is the
reception. From there, the other offices may be visited via a series of
walkways, connecting the offices as follows:

Walkways connect the reception to offices 2, 3and 6.
Awalkway connects reception to office 2 to office 4.
Awalkway connects offices 2 and 3 to office 7.

Office 6 is connected to offices 3, 5 and 9.

Office 7 s connected to office 9,

Office 7 and 9 are connected to office 8.

VY VVVY

Q12. Without visiting any office more than oncel-what is the maximum
number of offices a person can visit?

(a) 5

(b) &

()7

(d) 8

(e) 9

Q13. If a visitor must travel from reception (office 1) to office 8 by crossing
the fewest number of walkways, which of the following statements must
be true?

(a) The visitor will visit offices 2 and 7

(b) The visitor may visit offices 4 or 5. but not both

(¢) Thewisitor may not visit offices 9

(d).Ifthe visitor goes to offices 3, he or she must then go to office 6

(&), IFthe visitor goes to office 6, he or she must then go to office 9

Q14.If a visitor wants to travel to offices 4 and 5. which of the following
must be false?

itor will go to every office except office 3

itor will go to office 2 only once

itor will not visit any building more than once

itor will not visit office 8

itor will visit at least six different offices

Q15. If a new walkway is built connecting offices 55 to office 9. Then which
of the following could be true?
(a) A visitor may visit all the offices without visiting any office more
than once
(b) The shortest path from reception to office 8 will include a visit to
office 5
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(¢) Avisitor may go from office 5 immediately after office 3
(d) A visitor may go from office 5 to office 4 by crossing no more than 3
walkways
(e) Avisitor may visit offices 2. 3 and 6 in that order.

Q16. The following office has only one approach as per the initial rules
(a) 2and 3
(b) 4and 5
(0) 4and 6
(d)5and9
(e) Only4

Direction (17-21) Answer the following questions based on the
information given below:

A case s cut into two equal parts along a place parallel to one of its faces.
One piece is than coloured red on the two larger faces and green-on the
remaining. While the other is coloured green on the two smaller adjacent
faces and red on the remaining. Each is than cut into 32 cubes of the same
size. The 64 resultant eases are all mixed up.

Q17. How many cases have no coloured face at all?.
(a) 8
(b) 0
(c) 12
(d) 16
(e) Data inadequate

Q18. How many cases have only one Coloured face each?
@o
() 8
(c) 16
() 32
(e) None of these

Q19. How many tases have two red and one green face each?
(a).0
(b).2
©8
() 16
(e) None of these

Q20. How many cases have each one red and another green facc?
(a) 0
(b) 8
(c) 16
(d) 24
(e) Cannot tell from given information

Q21. What is the number of cases with at least one green face each?
(a) 32
(b) 36
() 38
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(d) 40
(e) 52

Direction (22-25) Read the given passage and answer the questions that
follow:

Mohan Dey is undecided which four movies to see this week. He
considering a spy thriller, a number mystery, a comedy and a science
fiction. The movies will be shown by TV channels STAR. SONY, B4U and
HBO, not necessarily in that order, and telecast on Tuesday, Wednesday,
Saturday and Sunday, not necessarily in that order.

(1) The movies by STAR will be shown on Sunday.

(2) The spy thriller will be shown on Tuesday.

(3) The science fiction movies are shown by B4U and not
telecasted on Saturday.

(4) The comedy is shown by HBO channel.

Q22. On Wednesday Mohan Dey can watch:
(a) The murder mystery
(b) The science fiction movie
() The spy thriller
(d) The comedy
(e) Amovie of STAR

Q23. The TV channel SONY will telecast
(a) Ascience fiction movie on Saturday:
(b) A comedy on Saturday.
() Amurder mystery on Tuesday.
(d) A comedy movie on Wednesday
(e) Aspy thriller on Tuesday

Q24. Mohan Dey watchied movies on two channels whose names come
first and third in the alphabetical order. He did not watch

(a) The murder mystery

(b) The'mayie shown on Wednesday

(¢), The science fiction movie

(d). The movie shown on Saturday

(€)- The comedy movie

Q25. On the basis of the paragraph and statements (2), (3) and (4) only, is
it possible to deduce that

1. STAR showed the murder mystery or the spy thriller

2. On sunday either the murder mystery or the spy thriller was shown

onTV.

3. The movie by BAU is shown on Sunday or Wednesday.

(a) Lonly

(b) 2only

() 2and 3 only

(d)1,2and3

(e) 3only
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Answer
4 5 6 7 8 9
d e e d c e
1w 15 16 17 18 19
c a b b b b

24 25 26 27 28 29
a d

10

20

30




